125 STING/100 '97 <1997><EU><112676>
INSTRUMENTS / LOCK SYSTEM
27389

Pos Part Number Description Additional Text Quantity
0 58311121100 FLASHER SUPPORT R/S DUKE'94 1.00
1 51114075000 WARNING LABEL 1.00
3 58311029100 INSTRUMENT LIGHTS 12V 2.00
4 58311053000 HEXAGON NUT M5X15 WS=8 4.00
5 58311088100 REDUCTION RUBBER 4.00
6 58311188000 *SPEEDOMETER CABLEM12/12 845MM 1.00
7 49111425000 BULB 12V 1,2W (W2X4,6D) 4.00
8 58311068100 * SPEEDOMETER KMH DUKE'94 1.00
8 58311068300 SPEEDOMETER MILES DUKE'96 1.00
9 58311052060 TRIPMETER RESET KNOB 1.00
10 0984020051 OVAL H.SCREW DIN7984-M 2X 5 1.00
11 58301098100 PLASTIC CAP 3/8" 261 1.00
12 58311054000 FOAM RUBBER RING 81x97x10 2.00
13 58312112000 *RUBBER RING 16 X 22 X 7 1.00
15 58311051000 INSTRUMENTS BRACKET 1.00
16 58311051050 BRACKET FOR INSTRUMENT BRACKET 1.00
17 54335031200 RUBBER GROMMET 20X25-M6X10 (2) 1.00




18 44012057000 SILENTBL.20X20-M6X15(2)45SHORE 2.00
19 0125060003 WASHER DIN0125-A 6,4 0.00
20 0797060003 TOOTH LOCK WASH. DIN6797-A 6,4 0.00
21 0934060003 Hex. nut DIN 934 M6 6.00
22 58311021100 FLASHER SUPPORT L/S DUKE'94 1.00
23 0912060123 AH SCREW DIN0912-M 6X12 2.00
30 58311066044 * LOCK SET CPL. DUKE'94 1.00
33 0985040123 FLAT HEAD SCREW DIN7985-M 4X12 2.00
40 58011021200 HIGH BEAM INDICATOR LIGHT BLUE 1.00
41 58011023200 NEUTRAL INDICATOR LIGHT GREEN 1.00
42 58011022200 TEMPERATURE WARNING LIGHT RED 1.00
43 58011024200 FLASHER INDICATOR LIGHT GREEN 1.00
44 58011022300 OIL WARNING LIGHT RED 1.00
45 58411078000 INDICATOR LIGHT WIRING '96 1.00




